Pass by Value

static )C'g;g i(i?t X, int y) { Was wird ausgegeben?
¢ Lo, (1) 1,1,ETH

itatic void A(int[] x) { (2) 1,2,ETH

y T | (3) 2,1,ETF

Sta)El: ;//?1d S (String x, String y) { (4) 2,2,ET—

gub}ic static void main(String[] args) { (5) 1’1’EDZ_
;EJrc'HanZmél;z']:l;ETH"; (6) 12 EPF
igig?],){[l]), (7) 2’1’ED:_
S(name, "EPFL"); ’+) -

} System.out.println(x[0]+","+x[1]+", "+name); (8) 2,2,E3:_




Erklarung |

static void I(int x, int y) {
System.out.println("2: x=" + x + ", y=
int temp = x;
X =Y,
y = temp;
System.out.println("3: x=" + x + ", y="
}

public static void main(String[] args) {
int 1 = 1;
int j = 2;
System.out.println("1: i=" + 1 + ", j=
I(i,3);
System.out.println("4: i=" + 1 + ", j=

y);

y);

j);

j);

Ausgabe:
1:i=1, j=2
2:x=1, y=2
3:x=2,y=1
4:1=1, =2



Erklarung Il

static void A(int[] x) {
x[0] = x[1];
}

public static void main(String[] args) {
int[] a = new int[2];
al[@o] = 1;
al[l] = 2;
System.out.println("1: a[@] = " + a[@]
+ ", a[1] = " + a[1]);
modify(a);
System.out.println("2: a[@] = " + a[@]
+ ", a[1] = " + a[1]);

Ausgabe:

1:a[0] =1, a[1] =2

2:a[0]=2,a[1l] =2
a ° 2



Erklarung Il

Stag;gt\elrcnugu’i(S:;;’rc‘fn)(()z{ x=" + X); Ausgabe:
)S(y:teril.pgttfpr‘intln("B: x= " + X); 1: name=ETH
} 2:x=ETH
public.static voig ma}p(String[] args){
gsgigﬁ.gsfprz‘inim(:lz name= " + name); 3: x= EPFL
} g)(/gfzgr?l?c;)ut.pr‘intln("m name= " + name); 4: name=ETH
name ° > ETH

!

X o > EPFL




Pass by Value

static void I(int x, int y) { Was wird ausgegeben?
int temp = Xx;
static void A(int[] x) { (2) 1,2,ETE
y ok (3) 2,1,ETF
static void S (String x, String y) { "
X =Y, >(4) 212;ET_
}
public static void main(String[] args) { (5) 1’1’EDZ_
String name - *ETH >
ring name = ; =
igxg@],x[l]); (6) 1;2;E =
X), -
S(name, "EPFL"); | (7) 2,1,EPFL
} System.out.println(i+","+j+", "+name); (8) 2,2,E3:_




